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Third Semester B.Com. Degree Examination,
November/December 2019

(CBCS — Semester Scheme)

Commerce
Paper 3.4 - FINANCIAL MANAGEMENT
Time : 3 Hours]| [Max Marks : 70

Instructions to Candidates : Answer should be written completely either in English or in
Kannada.

SECTION — A/ 20 - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
FYNT 0dRD)TETR DT NT-FZNIrt ev3dda. Z3 T-T[I 2 wosrieh !

1. (a) Write any four objectives of financial management.
BT AIEBF 0D 0IPR)WRT LR T, HVT eéﬁve‘dg( 2WT00D.

(b) List any four sources of working capital.

e 1AL
~#ctR JAIN 1
ZAhN Li‘_‘-"_ﬂiﬂ_’ i

BBINT WOBTUE Toey, Hreeries 305 ZGOMREEESE FAT N
(c) What is an annuity? i3 ~ - A::‘ \
T 3D doBTeT? '7‘ \_ KGF - 563 12"
S e el g
d) Giveth ing of EPS. A X
(d) ive the meaning o \‘\-:______‘__f__.._—/ ’

2e0 38 g8 H0TBeR?

() What do you mean by bonus shares?
WP Fedd 2orTes0?

(f) A project cost Rs. 2,50,000 and yields on annual profit of Rs. 40,000 after
depreciation at 12% p.a. but before tax 50%. Calculate the payback period.

wowY odeewdt dw. 2,50,000ns aﬁedumﬁe‘)dg», T2 03RCEBoWOT BITY Bo3TH &3
301 TPJIF ToarFT Y03 Bw. 40,000n¢) w3wBITowW DEFOT. TMwWT worEmeY
%0801 wdo@dsd DR, BIY WesH?

(g0 What will be the present value of Rs. 10,000 to be received after 2 years at
discount rate of 8% p.a.

2 IIFT wew %@Gﬁﬁwﬁ)mﬁ ow. 10,000neH @;‘ga’ dﬁ’ae)&s;ﬁd& 892, 5RI t;idda‘ig=l 8%
QOB NP,
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SECTION - B/ 2%or - 9

Answer any THREE questions. Each question carries 6 marks : (3 x 6 =18)
BINT adnF)warste Saedh BBNIT GuIDA. 33 3311 6 0T :

Briefly explain the role of a finance manager.
BOTIAT FHATTT DOFT), DTO.
@ <L

Analyse the factors which determine the dividend policy.
(SrYARTer:] &eaododgl AR DRI aoa’ﬁe;m% DB

Mr. Karthik deposits Rs. 10,000 at the end of every year for 5 years and the
deposit earns compound interest @ 10% p.a. Determine how much money he will

have at the end of 5 years.

0. HIFT® 0SB Be. 10,000M¢8), B3 IIET goasobd B8e5@ 100 Wi Bond 5 IReFne | _

Fo© deied SIS FoS3AWT, S SRENY TS0 BT R, Smdai)déﬁoadoa_aﬁ?

Given the data below :

Sales (Rs. 100 per unit) Rs. 3,00,000

Variable cost per unit Rs. 50 é
Interest burden Rs. 10,000

Fixed cost Rs. 1,00,000

Calculate operating, financial and combined leverage.

AT BI0BRTI, DB :

S00t3 (@8 0deRE T Be. 100 Bod) Bwe. 3,00.000
WEERBED 31,38 dedEH B, 50

wBodb 373 S, 10,000

38 323 8. 1,00,000

T3P 23T, BLTIR DI3) BLHOWIEIT S&me&%ﬁeﬁaﬂg{ TORY BOWD.
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Akash Electronics Ltd. is considering the purchase of a machine. Two
alternatives are available Machine A & Machine B, each cost Rs. 1,00,000. The
estimated cash inflows are as follows :

Year Machine A Machine B
Rs. Ks. .
15,000 20,000
20,000 25,000
30,000 30,000
35,000 30,000
25,000 25,000

(€] [RTEE S A (o TR

Calculate payback period and advice the management.

5T 2RI AWUETIT  HTBO STy obogneed A Do) Brgs) debzen
SOMedATO:T. I3 obo3B 23¢8 B, 1,00,000 Q003W. I w¥ BOIT  Powezd
39508030033 :

SRE ooz A obo3 B

o. ow. T
1 15,000 20,000 " AN
2 20,000 25,000 i ( Tk \
3 30,000 30,000 'f:,,:,:ﬁ_:_:.3=ff_) o
4 35,000 30,000 S S o
5 25,000 25,000 B o

SOTOTITS BT FoE) LRBODLO B 3T 30D Jed.

)

SECTION - C/ & - 2

Answer any THREE questions. Each question carries 14 marks : (3 x 14 = 42)
Q3093 TR ST 23nen evgdd. 33 5371 14 ®osned :

What is financial planning? Explain in detail the principles affecting sound
financial plan.

BT 03RewT BRIRT)T HoBBerd? TWO B TR0 adRcBod IO 339«;@{ D=0,
What is adequate working capital? Discuss the significance of adequate working

capital.
TITR), 59€) WOBZY HOWTBETO? TR, 509 WOBZYT SOBIZW), DI
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Sairam & Company has a total capitalization of Rs. 10,00.000 are consisting
entirely of equity shares of 50 each. It wishes to raise another Rs. 5,00,000 for

. expansion through one of its two possible financial plans.

(a) All equity shares of 50 each

(b)  All debentures carrying 9% interest

The company has estimated EBIT at Rs. 1,40,000 of the corporate rate of tay 18
50%.

Calculate EPS and Financial Leverage in cach case, Give a comment as 1o which
capital structure is suitable.

T90 Taw) B3 om0 ?uéi%dtita 10,00,000 moﬁm@d&d?&moamd 32 . 50T efex?:aﬁ
a’edoﬁ%‘aigt wHRPORT. 364 DTG 30@3% BRTIR) 03ReENYY, wors) DR SHd 0wy
0. 5,00,000(1'1}5&30@30?3&) 50 WoRIZH.

(a) 3o B, 50T o, 533 Resoned

(b) oo=e 3e 98 70 IFN

B0BRA0D WE, S0z 3ot Segen n¥s (EBIT) dx. 1,40,000 33y sozdod 301t B0
3e. 50%.

T3 RedD m?éqbedal (EPS) ®&520 a‘:’34«)(*&30;1)&‘»3q dﬁ& Bod 03 0l WORTY OW®
mgmﬁd DOB OB V.

‘A’ company is considering investment in a project that costs Rs. 2:50,800. The
life of the project is 5 years of estimated salvage value is zero tax rate is 55%:. The
company uses straight line depreciation and proposed project has estimated
earnings before depreciation and before tax as follows :

Year Machine A %
Rs.
1 50,000 ‘
2 50,000 >
3 75,000
4
5

il "‘1'

75,000
1,25,000

Determine the following :
(a) Payback period
(b) NPV at 15%

The following is the present value factors at 15% p.a.

Year : 1 2 8 4 5
P.V factor @ 15% : 0.870 0.756 0.658 0.572 0.497

4/6

-



63322

‘A’ 080 worwy odeemmodd T, 2,50,000 Ierhien Zonedzodd. 8 olecwdod
BeQTBPOID 5 IReNFNT. 5 IReMY wIs AdRT)Te GVIT BPY, YTO[HVY, 301 ®o 55%
F0oF Q0 ABTYODLT) Fed JeaJod AT, 3riodn3d Horie adeentod PIRE 301 303
ATTY SI00WD NYT F¥F0BE03T

SVF  aboz A
on.
1 50,000
2 50,000 ~
3 75,000 y A)
4 75000 [ "
5  1,25,000 \EN e =y
i . 56 g
Rez) S BN BEATHNYRY, Bow> HBAWD : N~ P hay
! —— _:-:,
(a) SOTOZRS ¥SY et “—""-7._ X

(b) IS%GQKJSJ@ BRIZ B0

BRI B, WTBIIeTNL Sevwo 1509 e50@083 :

IAF ! il 2 3 - S

3.3 @ 15% : 0.870 0.756 0.658 0.572 0.497

From the following information calculate net present value and profitability index

for 2 projects X & Y, suggest which of the 2 projects should be accepted
assuming discount rate @ 10%.

Particulars Project X ProjectY
Initial investment 40,000 60,000
Estimated life Syears S years
Scrap value 2,000 4,000

The profits before depreciation and after taxes are as follows :
Year Project X ProjectY
Rs. Rs.

1 10,000 40,000

2 20,000 20,000

3 20,000 10,000

4 6,000 6,000

5 4,000 4,000

The present value factor @ 10% are as follows :
Year : 1 2 3 4 5
P.V factor at 10% : 0.909 0.826 0.751 0.683 0.621
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88 YN DRODNIB), FONedd VB> odeews X 03 Y NS¢ T3 ::b")egs 3 wygweodw
m%oﬁﬁﬂé@{ 50 &BODY. Besws 108 Bx03 Eﬁ’ac%d Soedrt ol aleens 2RTI0wo 392

203ned odeend X odeens Y
S00YT WOBTY 40,000 60,000
YOI YT IRE 5 IRFnYy 5 IRened

VYT Y Eb’a% 2,000 4,000

odpemBodd m’o?%zd 301t 03T SRy BFFY D SW0BT NYF S FYToEOIS :
IR adeems X odeems Y
Ow. e

1 10,000 40,000

2 20,000 20,000

3 20,000 10,000 -
4 6,000 6,000

5 4,000 4,000

BRYB IR, BBTIFINL Besmd 10%08) F¥T0m0ds :

33 : 1 2 3 4 5

%3P @ 10% : 0.909 0.826 0.751 0.683 0.621
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